2A: X&)
M FOIMEK|R
o9l BlEdd (el ®9)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
IEC DS 6,452,076 3,147,804 3,304,272
= 443,642
T 14,554
Al 5,993,880
FUHFXA 153, 147 164,127 210,980
= 61,716
Al 91,431
QIREHA 153,147 164,127 210,980
= 61,716
Al 91,431
AR & &I 26,552 24,523 2,029
= 13,346
Al 13,206
101 21241l 18,102 17,674 428
= 8,575
Al 9,527
M IIRIZ2EXSEs 18,102 17,674 428
onag=z 18,102
—J|I2= 78,880 170 13,410
= 7,563
Al 5,847
—==xt==g 78,8803 x45! 3,550
= 356
Al 3,1%4
— X 78,8303 8 632
= 356
Al 276
—Z2tAald] 3,000& 170 510
= 300
Al 210
201 Ler23H| 8,450 6,849 1,601
= 4,771
Al 3,679
01 AtR2elt] 8,450 6,849 1,601
Oger=Z| 5,260
—zgs Y 2Ae=ES 5,260
= 2,971
Al 2,289
O=tl 3,190
-G RF 3,190
= 1,800
Al 1,390
QIRARH 72,553 84,483 211,930
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AR ke DNy
M FOIMEK|R
chel: DA (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 33,070 32,649 421
(@)= et 33,070
—IIEZAHSS2M MRFT(=F L 110
g9) 33,070
= 33,070
202 04l 15,300 16,800 A1,500
= 15,300
01 =LHO LI 15,300 16,800 21,500
ONZBHE=BH NSET OH(2 L 1
DHEY) 16,300
= 15,300
HHIE 33018 g4zt 5,672 5,672
201 =3 5,672 5,672
2 35244l 5,672 5,672
O=32= £ HAl 872
—SSAE 0ISR=sa8TAAY 83
72,6002 128 872
OAIE2ZEBI= X 4,800
—S3AE 0IERTHAIAY RX2 4,800
C2EFA - XH2 6,178,593 2,863,231 3,315,362
= 381,926
S 14,554
Al 5,782,113
K& 2l 5,656,638 2,341,579 3,315,059
= 301,236
< 3,000
Al 5,362,402
INESEES RS 137,172 162,444 ND5,272
& 3,000
Al 134,172
101 @124H| 18,102 17,674 428
M OIRIMZZ2NSE S 18,102 17,674 428
OXH&Eel 2y 18,102
—JlZ2= 78,880 * 170! 13,410
—F i 78,8802 x45< 3,550
— ¢ x==g 78,8803 8L 632
—2HAH| 3,000& 170 510
201 er2 3| 117,070 119,770 A2,700
= 3,000
Al 114,070
01 AtR2t2|HI 117,070 79,470 37,600
Odgt==d| 4,770
—NHH2AZSAE 223 1,470




2A:

QIR X =t

Hu: CRHEL . NH2
o PN ESEE fo EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
“NEEISZENE EX
20,0003 58 A 1200 & 1,200
—NNESZZ U HX(A2)
20,0002 *70H 1,400
—EX0ISZANERI (M)
10,0002 *70H 700
OFaxVI=8 SE&cl === 62,000
—=PIES 20,000
PRSP 42,000
OXHIIEE MASXAH H1 &FE ALY 10,000
—NHI =S 10,000
= 3,000
Al 7,000
OZelsal 40,300
—FPSUSESRALYE MM FX 2= 9,240
—FSUHSESRALE RAES 17,200
—JHeIEBLS S RAES 2,100
—NHZNSERACIAAE FX2= 10,000
—HNCHUASHAIAE 2| 1,760
202 04| 2,000 3,000 1,000
01 =LHOLI 2,000 3,000 21,000
OEXOIs g2F2 2,000
KETHEALALY =& 5,218,230 1,927,630 3,290,600
201 er23 | 176,230 126,230 50,000
01 At2t2ltl 173,700 123,700 50,000
ER=last s all 151,500
—KNEM A SNS 223 1,500
—XYSNE HEIe2E
9,375,000 * 1694 2~ 150,000
o288+ 2,200
—KNEMZARI AR =
100,000 x5 & »23] 1,000
—3dAH2d%ds =&
100,000& 6 & *22 1,200
OXHTZA XN2ZH 225 8
2,000,000 * 1004 2~ 20,000
2 s5=4g4l 2,530 2,530 0
O=s23gl 2,530
—KNEM AL ST 23
2,530& 1,000 x13] 2,530
202 04| 2,000 1,400 600
01 =LHOLI 2,000 1,400 600
OXHTHEA HRFE 2,000
301 EtE NS 5,000,000 1,800,000 3,200,000




AR ke DNES Iy
Hu: CRHEL . NH2
(s BPNESET (1 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 5,000,000 1,800,000 3,200,000
OXNEMEAL =EZ
312,500,000 * 1690 2 5,000,000
405 KHoHFSH| 40,000 40,000
01 ML ESFSHI 40,000 40,000
O LESSEHHI(ANSS) & 40,000
KNEMZAL SEH] K& 301,236 251,505 49,731
= 301,236
201 fer23y| 27,818 23,119 4,699
= 27,818
01 At2telt] 27,818 23,119 4,699
Oggt=3=H| 27,818
—KEMZAL VIEEEEH & 23| 27,818
= 27,818
308 XXM SOIA 273,418 228,386 45,032
= 273,418
13 S [2S0He & EAS A 273,418 228,386 45,032
OXETHEAL S 273,418
= 273,418
EXi2el 241,198 217,857 A\36,659
= 80,690
Al 160,508
SAIXIOt2e 241,198 232,857 8,341
= 80,690
Al 160,508
101 @124H| 71,748 69,127 2,621
= 10,000
Al 61,748
M OIRIMZZ2NSE S 71,748 69,127 2,621
ONESAIXIL HREX 71,748
—JlZ2= 78,8802 x 168 x4H 53,008
= 7,388
Al 45,620
—Fi==g 78,8803 452 x4H 14,199
= 1,979
Al 12,220
—Axtg 78,8302 x8 L x4 2,525
= 352
Al 2,173
—2kA| 3,000~ 1682 x4H 2,016
= 281
Al 1,735
201 Ler23 | 165,450 189,730 5,720




AR ke DNES Iy
Hu: CRHEL . NH2E
chol: exjzel
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 68,690
Al 96,760
01 At2tltl 165,450 189,730 5,720
2et-EH| 166,750
—Aot BEF=E 130,870
= 60,990
Al 69,880
—SAXILAEE ARS
750,000 * 122 9,000
= 3,000
Al 6,000
—&==2 N 45,0002 x 16 2 +43] 2,880
—HLHIBRESLE
1,400,002 %1021 14,000
osgsy AR
—SSAIABAIAIAE By
100,000 x8& %52 4,000
O=gt 4,700
—HESAIXDt R 4,700
= 4,700
202 04t 4,000 4,000 0
= 2,000
Al 2,000
01 2L AL 4,000 4,000 0
OSAIXIL R & SAIXIL RS &
HAIE 4,000
= 2,000
Al 2,000
CEIFaze 280,757 243,79% 36,962
= 11,554
Al 269,203
C2EFA O AlE S 2t 60,000 60,000 0
= 10,000
Al 50,000
401 Al HIZ S 0HbI 60,000 60,000 0
s 10,000
Al 50,000
01 AlZ8| 60,000 60,000 0
OAl£H] 60,000
—CE2EH =5 200,000 200K 40,000
= 10,000
Al 30,000
—AlESFal 25 50,0002 *400H 20,000
CEREFANGE2Y 197,503 164,595 32,908




2A:

Hu: ¢

QIR X =t

chl: (=CR-E))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
101 2124 d| 17,067 16,664 403
M IIRHMZ2Z2 RS2+ 17,067 16,664 408
OEZYFAAIE HREX 17,067
—JlI2= 78,830 *167 2+ 1 13,173
— =X 78,8803 +35x1H 2,761
- X< 78,8303+ *1H 632
—2tAlH| 3,000& 1671 501
201 B2 AY| 70,300 71,600 21,300
01 AtR2telt] 14,400 16,000 A1,600
Oget==ZH| 13,000
—=E2=ME 4,000 *1,75004 7,000
—H2USE ME I 7
5,000 *1,20094 6,000
O=g+y 1,400
—CRUEAQRAS HALL
100,000& *7 B +23| 1,400
02 S=29| 55,900 55,600 300
OAE&EHIR X 55,900
—C2HFAPAIE KX 35,000
—AEYHSE FX|22] 20,000
—AOIEKAIS S4Ie=a
25,0002 x 122 *3H 900
202 0441 2,100 2,100
01 =2LHO4 ] 2,100 2,100
OE2EFA S Y2xa 2,100
308 AXISHMSOIN 104,436 74,231 30,205
13 SI |2 SUICHEHE A E L EFALAHI 104,436 74,231 30,205
O2IF=AHEBAAE(KAIS) S22 55,377
O=A2FE JI2k FXNE=+ 49,059
405 KHHE S| 3,600 3,600
01 XML =EF S| 3,600 3,600
OAOEKAIS S| WXl
1,200,000 *34 3,600
PSUAEI2F 9,200 4,700 4,500
201 L2 AH| 6,800 2,700 4,100
01 AtR2elt] 6,800 2,700 4,100
Oger=Z| 6,800
— S DNES ARS
180,000 * 124 2,160
—8==9 & 45,000 = 12J4 540
—IHSEBCISIAL B, AR HIZE
30,000& *70H 2,100
—SSASHY SALL U=
10,0002 x200H 2,000
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